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Mon 4th
N-S
1st
Janne & Per-Ake
59%
2nd
Dave C & Ivy
58%

E-W
1st
Tomas & Jan
59%
2nd
Barry & Terry
54%

Wed 6h 

1st
Janne & Hans
62%
2nd
Mike G & Terry
57%

Fri 8th  

1st
Bob S & John M
59%
2nd
Lars B & Janne
59%
Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A you open 2♣ and partner bids 2♦. 
What do you rebid, how do you proceed, and what do you 

♠ A
♠ AQ6
envisage as a final contract?

♥ AKQJ9
♥ 105

♦ KQ1098
♦ Q2
With Hand B RHO opens 1♠. (a) What do you bid?


♣AK
♣ AK9762
(b) Suppose you bid 1NT and partner bids 2NT, what now?
Hand C
Hand D
With Hand C partner opens 1♥ in first seat, what do you bid?
♠ K432
♠ A52
♥ 932
♥ Q65
With Hand D it’s unfavorable vulnerability, what do you 
♦ 7653
♦ J987
open in first seat.
♣ Q7
♣ AJ8
Hand E
Hand F
With Hand E partner opens 1NT.  You transfer with 2♥ and

partner bids 2♠, what do you bid now?

♠ KQ965
♠ A107


♥ 7

♥ 1032

♦ 54
♦ AK7
What do you open with Hand F?

♣ KQJ64
♣ A1087




Bidding Sequence Quiz

G
1♥
pass
2♥
pass
What is 2♠, is it a reverse promising 4 ♠’s? is it game forcing? 
 

2♠



or is it something completely different?
H
1♥
pass
2♥
pass

 


2♠
pass
4♥

What is 4♥, is it strongish or weakish (fast arrival)?

J
1♥
pass
2♥
pass
 


2♠
pass
3♠

What is 3♠?
K
1♥
pass
2♦
pass




3♣
pass
4♥

What is 4♥, is it strongish or weakish (fast arrival)?
L
1♠
pass
2♣
pass
 


2♥
pass
4NT
pass
4NT is RKCB for ♥’s, what is 5NT?

5NT





Twelve Playing Tricks?



Board 23 from Monday 4th April
Some were lucky, some unlucky and others had a system that simply did not cope on this board, which I was asked to write up:
Dealer:
♠ A



Table A
South
♥ AKQJ9

West

North(A)
East

South
E-W vul 
♦ KQ1098

pass
(1)
2♣
(2)
pass

2♦

♣ AK


pass

4NT
(3)
pass

5♣
pass


6♦
(4)
all pass 

♠ K86532

N
♠ Q10974

 
♥ 652
W
E
♥ 3

Table B
♦ 3

S

♦ A2

West
North(A)
East

South
♣ Q83


♣ J9742


pass

2♣
(2)
pass

2♦

♠ J

 

pass


3NT
(3)
all pass


♥ 10842





♦ J7654


Table B
♣ 1065




West


North(A)
East

South 

pass



2♣
(2)
pass

2♦
pass
2♥
(3)
pass

4♥
(5)
pass
6♥
(6)
all pairs

Table A:
(1)
Not good enough for a weak 2♠, especially vulnerable. It’s 14 for the Australian rule of 15 for pre-empts and just allowed at this club, but a poor bid vulnerable.
(2)
I don’t like opening 2♣ with two-suiters, but with this many points you have to as there is a real chance of a pass-out.
(3)
What did you bid with this North hand A in this week’s quiz? I don’t like this, why rush? This bid guarantees that you have no room to look for a fit. 
(4)
Why this North chooses ♦’s rather than ♥’s at pairs scoring is a mystery to me, but he was extremely lucky to find partner with a ♦ suit and it worked out very well as the cards lay.
Table B:
(3)
This North chose 3NT – showing 26-27 or something similar, but I don’t like this either because: 
(a)
the hand is not balanced, and 
(b)
I simply hate the 3NT rebid as it virtually rules out Stayman and transfers
for partner, and 
(c)
this hand has 11-12 tricks and slam in a red suit is virtually guaranteed if there is a 5-3 fit – but 3NT is passable and probably will be passed.
Table C:
(3)
This North bid sensibly, show the ♥ suit and if partner doesn’t like ♥’s then bid the ♦’s.

(5)
Fast arrival, agreeing ♥’s with a weak hand.

(6)
Now, especially at pairs, North does not need to mention the ♦’s and simply bids the higher scoring ♥ slam. He could have checked with RKCB for the missing ace, but he knows partner does not have it after his weak jump.
And what happened? This was a very unlucky hand for the good bidders as 6♥ (bid three times) went down because of the ♦ ruff. The silly 3NT scored about average when it made (presumably the opponents blocked the ♠’s). Two pairs were lucky to end up in 6♦ and two more scored well when they managed to stop in ♥ games, which I would find impossible with this North hand.
The bottom lines:

· Do not play 2♣ - 2♦ - 3NT to show huge balanced hand of any sort, it simply uses up too much bidding space. I have stated the options regularly in the news-sheets:
(a) Play Benjamin twos 
where 2♦ - 2♥ - 2NT is 25+ and game forcing.

(b) Play the Multi

where 2♣ - 2♦ - 2NT is 25+ and game forcing.

(c) Play the Kokish Relay
where 2♣ - 2♦ - 2♥ - 2♠ - 2NT is 25+ and game forcing.

· Do not jump to 4NT prematurely – find the fit first.
Bidding After a Transfer



Board 19 from Friday 8th April

This board attracted my attention because just one pair played in the super cold 4♠ and three went down 3NT with five losers off the top. There were various auctions, but who would you blame at this typical table?

Dealer:
♠ J832





South
♥ KQ84

West(F)
North
East(E)
South
E-W vul 
♦ J832

-

-

-

pass


♣ 9


1NT
(1)
pass

2♥
(2)
pass

2♠


pass

3NT
(3)
pass
♠ A107

N
♠ KQ965

pass
(4)
pass 


♥ 1032
W
E
♥ J

♦ AK7
S

♦ 54


♣ A1087


♣ KQJ64




♠ 4
 



♥ A9765





♦ Q1096



♣ 532

(1) What did you open with this West hand F in this week’s quiz? It’s totally flat so deduct a point, but the three tens and prime cards are more than enough compensation for a 1NT opening.
(2) Transfer

(3) What did you bid with this East hand E in this week’s quiz? The hand has the values for this 3NT bid, but it is a poor choice. It is important to inform partner of the weak red suits, and the best way to do this is to bid 3♣ after transferring, natural and game forcing.
(4) It’s always a guess with three of the transfer suit. With an honour in ♠’s and nothing in ♥’s I would bid 4♠, but you cannot really blame West for passing with this totally flat hand and the blame for the poor contract clearly lies with East.
And what happened? 4♠+2, 3NT=, 3NT-1 twice and 3♥*(S)-1.
The bottom lines:

· If partner opens 1NT and you have game going values with a 5-card major and also 5-card minor (or a 4-card minor with weakness in the other two suits), then transfer and then bid the minor (rather than 3NT) to warn partner of shortage in the other two suits.
 A maximum NoTrump overcall?


Board 1 from Monday 4th April

Dealer:
♠ 4




North
♥ J9764

West(B)
North
East

South
Love all 
♦ J1043

-

pass

pass

1♠

♣ J83


1NT
(1)
pass

2NT
(2)
pass
3NT
(3)
all pass 

♠ AQ6

N
♠ J75

 


♥ 105
W
E
♥ Q82

♦ Q2

S
♦ A9876


♣ AK9762


♣ Q5




♠ K109832
 



♥ AK3





♦ K5



♣ 104

(1) What did you bid with this West hand B(a) in this week’s quiz? With two ♠ stops I much prefer this 1NT overcall to bidding ♣’s. A 1NT overcall is often not as balanced as an opening 1NT, the important thing is normally to have a stop(s) in the suit opened.
(2) Invitational.

(3) What did you bid with this West hand B(b) in this week’s quiz? No doubt the points pundits will say it’s only 15 and so pass. But this 6-card suit is great and I (and two others) bid 3NT – just hope that partner has enough in the red suits to stop them.

And what happened? Three pairs bid to 3NT making +1, three pairs played in ♣ partscores and one pair stopped in 2NT+2.
The bottom lines:

· Upgrade a hand with a suit like AKxxxx.
· Think of overcalling 1NT with 15-18 and stops in the opener’s suit, you do not need stops in all suits.
Dave’s Column
Dealer:
♠ A765



Book Bidding
West
♥ J654

West

North
East

South
both vul 
♦ 2

1♥


pass

2♥

pass


♣ A432


4♥

all pass


N
♠ K432

W
E
♥ 932


S
♦ 7653


♣ Q7


You are North, defending 4♥. For some reason you lead the ♣A and partner encourages. You continue with a ♣ with declarer ruffing South’s ♣K. Declarer plays the ♥A dropping South’s ♥K. Declarer continues with the ♥10, plan the defence as North.
Dave’s Column Answer




Board 4 from Wednesday 6th April
Dealer:
♠ A765



Book Bidding
West
♥ J654

West

North
East(C)
South
both vul 
♦ 2

1♥


pass

2♥
(1)
pass

♣ A432


4♥

all pass
♠ QJ
N
♠ K432
(1)
What did you bid with this East hand C in
♥ AQ1087
W
E
♥ 932

this week’s quiz? Pass is very reasonable, it’s 
♦ AKQ108
S
♦ 7653

very close, but I (Terry) also chose 2♥. With 
♣ J



♣ Q7
a very weak hand it’s usually best to support 

♠ 1098

 
♥’s rather than introduce the ♠ suit. 
♥ K


 
♦ J97


♣ K1098765
North leads the ♣A and South encourages. ♣’s are continued with declarer ruffing South’s ♣K. Declarer plays the ♥A dropping South’s ♥K. Declarer continues with the ♥10, plan the defence as North.
You can see that declarer has played well by playing the ♥10 rather than the ♥Q, thus avoiding a force in ♣’s. If you duck the ♥10. Declarer will knock out the ♠A and still be able to control the ♣ continuation with dummy’s ♥9. So you must take the ♥J and partner gives a neutral signal. What now?
A ♦ won’t work – partner would have signaled if he had the ♦A. A low ♠ might force a misguess if declarer has only the ♠J. Both of these are greedy plays and might be a disaster for the defense.

The truth is that it’s not at all complicated. A simple trump return will defeat the contract unless declarer has six running ♦’s. If declarer draws your last trump, you will have the ♠A and a ♣ winner in the end, and if declarer leaves you with a small trump, he conceded a ♦ ruff.
And what happened at the Pattaya bridge club? 4♥-3, 4♥-2, 3♠-3(N), 2♥+2 and 1♥+3 twice.
Dave’s  2nd Column



North
South
West

North
East

South

♠ A52
♠ 964
-

pass

pass

1♦


♥ Q65
♥ A92
pass
2NT


pass

3NT
♦ J987
♦ AQ102
all pass

♣ AJ8
♣ K104
You are North, declarer in 3NT.  East starts with the ♠K and continued with the ♠3 to West’s ♠J when West encouraged. You duck the first two tricks and have to take the third round of ♠’s. At trick four, you run the ♦9 which holds and continue with the ♦J and cash four ♦ tricks ending in dummy, West discarding one ♥ and one ♣ and East discarding a ♥. How do you continue?

Dave’s 2nd Column Answer

Board 5 from Wednesday 6th April
Dealer:
♠ A52



Book bidding
North
♥ Q65

West

North(D)
East

South
N-S vul 
♦ J987

-


pass
(1)
pass

1♦

♣ AJ8


pass

2NT

pass

3NT
(2)
all pass


♠ J87
N
♠ KQ103


♥ J1074
W
E
♥ K83
(1)
What did you open with this North hand D 
♦ 43
S
♦ K65

in this week’s quiz? 
♣ Q653


♣ 972

North passed his balanced 12-count because 

♠ 964


(a)
the hand has nine losers. 
♥ A92

 

(b)
the vulnerability is unfavorable 

♦ AQ102
 (2)
It’s a totally flat 3343, but the two tens are
♣ K104


enough compensation to accept.
East started with the ♠K and continued with the ♠3 to West’s ♠J when West encouraged. North ducked the first two tricks and had to take the third round of ♠’s. At trick four, declarer ran the ♦9 which held and continued with the ♦J and cashed four ♦ tricks ending in dummy, West discarding one ♥ and one ♣ and East discarding a ♥.

How should declarer continue and why? 
Declarer should play a ♥ towards the ♥Q. If West holds the ♥K there are nine tricks. If East take the ♥Q with the ♥K you will also make nine tricks because the location of the ♣Q is now marked. If the ♥Q loses to the ♥K with East, West must hold the ♣Q. East passed originally and has shown 11 HCPs, he would have opened if he also had the ♣Q.
And what happened at the Pattaya bridge club? Some bid game and some stopped in a partscore. All made 9 or 10 tricks
Current club championship standings

	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	
	638.4 Hans Vikman
638.3 Per Andersson
624.0 Lars Broman
621.5 Janne Roos
610.8 Paul Quodomine
601.4 Tomas Wikman
600.0 Bob Short
594.6 Gerard Hardy
591.1 Paul Scully
591.1 Bengt Malmgren
	332.2 Per Andersson
326.2 Hans Vikman
321.7 Lars Broman
317.6 Janne Roos
314.5 Bob Short
313.8 Paul Quodomine
312.2 Gerard Hardy
310.9 Bengt Malmgren
310.0 Derek Tyms
309.7 Jeremy Watson


The triple

Tough luck Janne, just missed the triple by 0.05% on Friday (that’s ½ a Matchpoint where a top is 8 matchpoints). 

Bidding Quiz Answers

Hand A:
2♥, and if partner does not like ♥’s then bid ♦’s – you want to play in a red suit slam. 

Hand B:
(a)
1NT, with two ♠ stops I much prefer this to 2♣ which is too tame for me. Don’t worry about the two doubletons, partner may have cover there but it may not be needed with a ♠ lead.
(b)
3NT. This hand, with the great ♣ suit and two ♠ stops, is not minimum. And if 2NT makes then 3NT probably will.
Hand C:
Pass or 2♥. If you decide to bid with this very weak hand, then support with 2♥ rather than introducing the ♠ suit. 
Hand D:
Pass. In the article, Eric Kokish says to pass “because you are vulnerable and the hand has nine losers”. My (Terry) comment: it has nine losers because it is 4333 type and as I don’t use the Losing Trick Count, deducting a point for 4333 ends up with the same conclusion, as does the rule of 20. Bridge bidding and hand evaluation is quite logical and most past the beginner’s stage realize that 4333 shape is bad: it is automatically built in to the Losing trick Count and also the Rule of Twenty.
Hand E:
3♣, bid out your shape and indicate your worries about the red suit to partner. This bid is game forcing and much better and more descriptive than 3NT or 4♠.

Hand F:
1NT. Deduct a point for the 4333 type shape, but the three tens are more than enough compensation.

Bidding Sequence Quiz

G
1♥
pass
2♥
pass
2♠ is a help-suit game try, with either three or four ♠’s.

2♠





H
1♥
pass
2♥
pass
4♥ is strongish, accepting the game try. Some would cue bid 
 


2♠
pass
4♥

rather than bid 4♥ just in case partner’s game try is a slam try. It cannot be fast arrival as the 2♠ bid is not game forcing.
J
1♥
pass
2♥
pass
This one is interesting. Partner has 5 ♥’s and may or may
not 


2♠
pass
3♠

have four ♠’s. So 3♠ here shows a good hand willing to go to 4♥ but also shows 4 ♠’s in case there is a 4-4 ♠ fit. Note that it is thus best not to play this as a cue bid.

K
1♥
pass
2♦
pass
This is different from example H above. Here the auction is 


3♣
pass
4♥

game forcing and so 4♥ is fast arrival with a minimal hand for the two level response and probably mediocre ♥’s.
L
1♠
pass
2♣
pass
 


2♥
pass
4NT
pass
I like Eddie Kantar’s void responses, which show two keycards 

5NT



and a useful void (so obviously ♦’s here).
Soncran

It’s Soncran next week and hundreds of idiots will be throwing water around for a week. The days of interest are 18th (Naklua), 19th (Pattaya) and 20th (Jomtien). The only day that the traffic is really bad in Pattaya is the 19th which is a Tuesday (don’t even think of going out) and so the bridge club will remain open all week.
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